1. Write the product g ‘
() 2x5= 10 | S @ 5x9=| 45 () 6x5=_d0 |&8
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(g)7><5= (h) 8x0=| D |. () 8x8 =
G) 10><5= @ 7549 3 [ ) 47 = 28
(Mm0Ox5 = 0] l “ (n) 6x6=| 36 (o) 6x10=
(r) 7x0 =l ®) i
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2. Write the correct number in | J&

(a) 7><6=(-42) (b) 8x(’é\/)=48 (c) 5.’(6)215
(d) 6><(O = (e) (‘»g\‘;x5=4o (f) G\)xs:m
(8) 10><(_l’)=10 (h) (/'a,/Jx6=54 (i) 3x(/6\;):18

'3 Write the ten multiples of:
(a) [ 4 between 10 and 50 | (12,1¢,20, 24,28, 32,36, &40, tr, 48 |

(b) 7 between 15 and 85 | (21, 28, 35.42, 49, 5¢, 63, 70,71, 74

Al
(b) 6 boxes. i
8 pencils in each box. Eﬁ

4. Solve the following.
(a) 5 cakes.

3 cherries on each cake ¢
How many cherries?

(5X3JAIISWCI' (GXS Answer lf—B

How many pencils?

(d) 4 baskets.

2 persons on each bike. 4 pears in each basket.
How many persons? How many pears?

Tz Jamwea(g)  (axtz Jhoer(0)

(c) 9 bikes.




. (e) 6 plates. ) (f) 8 cars. - . B

4 samosas on each plate. /1 4 persons in each car. o

How many samosas? S How many persons? TS
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